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Graph each function using radians.
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4)  y = 4cos (θ2  − 
π
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5)  y = 4sin (θ4  − 
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Write the equation for each graph.  Assume there is no phase shift.
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Graph each function using radians.

1)  y = 4sin
θ
2

 + 2

π 2π 3π 4π 5π 6π

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

2)  y = 
1

2
 ⋅ cos 2θ  − 2

−
π

4

π

4

π

2

3π

4

π 5π

4

3π

2

7π

4

2π

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

3)  y = 
1

2
 ⋅ sin (2θ  + 

π

2 )

−
π

4

π

4

π

2

3π

4

π 5π

4

3π

2

7π

4

2π

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

4)  y = 4cos (θ2  − 
π

2 )

π 2π 3π 4π 5π 6π

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

5)  y = 4sin (θ4  − 
3π

2 )

π 2π 3π 4π 5π 6π 7π 8π 9π 10π11π12π

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

6)  y = 3sin (θ2  + 
π

4 ) − 2

π 2π 3π 4π 5π 6π

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6



©O L2f0G1F7K hKnuwtcak LSsosfctmwBaTrDeI tL`LLC`.u F UAClwl_ `r^imgvhYtzsQ er\eIsveXrlvAeKdJ.n U CMcaAd\eJ uwUiMtyhF eIgnrfKicnbi`tLeo hARlMgJeVbmrXaF S2R.

Worksheet by Kuta Software LLC-2-

Write the equation for each graph.  Assume there is no phase shift.
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